ZEPHIT Oty X —[ES 20244986 R
SH6EE
[ElNE 48 5A 6 A 7H 8 A 9A
ERl= EUR = () | EUNE (kg) |ERRE(R) | EIURE (kg) |EUN=R8(R) | EUNE (kg) |EUNRE(R) | EIUE (kg) |EUNRE(R) | EUNE (kg) |EUR A2 (R) | EUE (kg)
i 63 9.18 23 6.56 45 9.22 3 2.02 2 1
AV ARRY
Las 65 13.72 65 13.5 51 9.52 58 6.92 127 10.22
Er27) 7 2.9 44 49.36 41 37.9 46 9.76 13 4.66
LT G 0 0.58 29 3.78 0 1 0.18 1 1.06
B 3 1.62 18 5.52 2.24 7 2.06 4 1.68
SRR 58 20.26 34 7.04 36 3.53 25 3.18 20 12.5
BETF 284 40.86 381 48.56 279 35.82 324 36.28 386 51.78
Z Dfth 15 30.36 21 39.74 10 3.19 5 11.16 0 0
B 495 119.48 615 174.06 471 101.42 469 71.56 553 82.9 0 0
A A 20 31 20 21 16
ENNE 10A8 1148 1248 1A 2 A 3 A =
an B EUR = (=) | BEUNE (kg) |EUS#(R) | EURE (kg) |EUNa#(=) | BIUNE (kg) [EMEE(R) | EUE (kg) |EUNS#(=R) | EUXE (k) |EUNa#(R) | BEIUNE (kg) (EMX S (R)| EUXE (kg)
& 136 27.98
AVARRY
has 366 53.88
Er&7)] 151 104.58
RE1T o 31 5.60
/e 41 13.12
FBREL 173 46.51
BEF 1,654 213.30
Z Dfth 51 84.45
&5t 0 0 0 0 0 0 0 0 0 0 0 0 2,603 549.42
FFANEL 108




A b=A—» =7 U FBFEEEIIS 20249565
SH6FE
ER i 47 5 A 6 A 75 8 7 958
R [ERAED) | ERE (ke) [EMRAK(R) | ERE ko) |ERAKGR) | EULE (ke) |EURSHK(5) | EURE (kg) |EURA# () | EURE (k) |EMRS (%) | ENE (ke)
s 14 2.44 22 4.62 4 1.18 33 7.06 10 1.7
L REY
32 51 24 3.46 25 3.28 12 3.16 21 2.92
P A
#24) 26 7.48 9 3.92 8 1.9 7 1.84 9 2.28
REAT 5 0.6 4 0.54 35 0.41 0.28 8 0.44
BRR 5 1.82 5 1.06 3 0.7 1.56 24 5.42
FRTRR 41 14.46 4.28 16 3.24 0.56 6 1.72
BETF 21 2.1 25 2 5 0.8 16 1.3 19 0.56
Z ot 0 0 0 0 0 0 0 0 0
a5t 144 34 98 19.88 96 11.51 76 15.76 97 15.04 0 0
[ENE 10AR 11R 12H 1R 2 A 3R At
2H | ERAHK(R) | EURE ke) |EURAH(R) | EURE (kg) |EURAH(R) | EURE (kg) |EURAH(R) | EURE (kg) |EURAH(R) | BURE (kg) |EURAH(R) | BURE (ke) |EURAH() | EURE (k)
s 83 17.00
A VARV
114 17.92
P ES
g2 59 17.42
REAT 53 2.27
Bkt 41 10.56
SRR 75 24.26
PET 86 6.76
Z ot 0 0.00
it 0 0 0 0 0 0 0 0 0 0 0 0 511 96.19




A b—3—H F—/NEEERS 20249565
SH6FEE
[EiXE 4 A 58 6 B 7H 8H 9A
m B BN S () | ERE (kg) |ERRE(R) | BEUXE (kg) [EUR=#E(R) | EURE (kg) |EUR=E (=) | EUNE (kg) [EUR=#(R) | BEURE (k) [EUR=% (=) | EURE (kg)
i 3 1 16 2.8 28 5.5 0 0 10 2
X ¥
9 2.2 10 1.3 8 1.3 4 0.8 22 2.9
RS
L7227 2 0.7 27 5.3 11 2.4 3 2.5 12 3.2
RELT G 3 0.2 4 0.6 2 0.5 1 0.4 0
B 30 7.7 2 1.9 0 0 0 0 3.3
TR 6 1.9 2 0.7 4 1 0 0 2.2
BETF 2 0.2 5 0.5 2 0.2 1 0.1 15 2
Z DAt 0 0 0 0 0 0 0 0 0
= 55 13.9 66 13.1 55 10.9 9 3.8 69 15.6 0 0
ENE 10A 118 12A8 1A 2R 3R =)
m B EUR 3 (R) | [EUNE (kg) |EURA#(H) | EURE (kg) |EURSE(R) | EUE (kg) [EURS#(R) | EUNE (kg) |EURR#(S) | EURE (kg) [EURSEK(R) | EUE (kg) [EUR=#(R) | EUNE (kg)
& 57 11.30
ARV
P 53 8.50
Er&7)| 55 14.10
=g 10 1.70
B 35 12.90
TR 19 5.80
BEF 25 3.00
Z DAt 0 0.00
= 0 0 0 0 0 0 0 0 0 0 0 0 254 57.3




TR ERREUN S 2024498 6H
SH6EE
EURE 4 A 5 A 6 A 7H 8 A 9 A
B |EREHCR) | EUE ke) [EURAH(R) | BN (k) |EHREH () | EUUR (ke) [EURE#(R) | BN (ke) |EHREH () | EUR (ke) [EURA#(R) | BN (ke)
e 10 18
Trazs 17 3.9
LS
% 17 71
7S 3 0.35
%kl 9 2.6
Akl 14 5.65
BETF 20 18
Zof 3 0.85
e 0 0 0 0 93 24.05 0 0 0 0 0 0
EURE 10A 11A 12A 15 2 A 378 st
2B | EREKC) | EREke) |ERAK(R | BIRE (k) |ERES(R) | ERE ke) |ERAM(R | BIRE (ke) |ERM(R) | EIE (ke) |ERAH(R | BIRE (ke) | B2 () | EIRE (ke)
e 10 1.80
Toazz 17 3.90
LS
%1 17 7.10
W17 5 0.35
ok 2.60
Akl 14 5.65
BET 20 1.80
Zof 3 0.85
e 0 0 0 0 0 0 0 0 0 0 0 0 93 24.05




